EXAMPLE OF NON-TOWERED
COMMUNICATIONS

"Jerome traffic Skyhawks 61557 is taxing to runway 27
from Glass cockpit"

"Jerome traffic Skyhawks 61557 is taking runway 27 for
touch-n-go's Jerome"

"Jerome traffic Skyhawk 61557 upwind runway 27
Jerome"

"Jerome traffic Skyhawk 61557 turning left Crosswind
runway 27 Jerome"

"Jerome traffic Skyhawk 61557 is turning left downwind
runway 27 Jerome"

"Jerome traffic Skyhawk 61557 turning left base runway
27 Jerome"

Jerome traffic Skyhawk 61557 turning final runway 27
Jerome"

When finished with the pattern: "Jerome traffic
Skyhawk 61557 turning final runway 27 full-stop
Jerome"

"Jerome traffic Skyhawks 61557 is clear of runway 27
and taxi back to Glass cockpit Jerome"




